[C2) ik ;mHT

X2 Tsil FABBAN)
# s BRA 63,712
ERAIT&E 3,281
FRYTA 21,151
iidi) 7,059
ZHET 8,137
=1L 29,749
78 K 4 1,724
FEE 1,724
= HIT 2,651
[P ip 4,650
MEZFRAO 2,981
ABET @ = ZHET 1,631
fiE] A /)N B 2,420
bt B AR AT 3,691
EE ML AT 1,331
KERT—TEB 6,465
HinTEEXER 4,601
75 E SR 436
Y)\9;:3:CE:D] 4,726
WKET—TB 4,379
WKET=THE 2,426
SHE—TH 2,504
SEE-THB 4,294
EHBET—TH 5,645
EHETZTH 4,805
SCERHET 2,443
{E/RHT 9,878
AHE 657
HFWL=TH 674
& IILAF 1,413
& ILFE T Al 635
7K 3& st B A 484
BREW—TH 261
Nt —TH 712
FEEERE 2 1,353
Nt T B 428
INGTAR > TG 330
INIET B 1,404
FERE R 1,111
3 #th 75 [ th BT 314
FEERE T 6,423

2016412 R

(%)

100

3R BIRERE

90
80

70 -
60 -
50 -
40
30
20 -
10 -

0

74.7

(A)
3.0

FMRE#R &

2.5

2.0

15

1.0

0.5

0.0

2.1

0.9

HiRERAT~HHE FW=TE~EIEER

FRAEHEIS

7%

93%

HRERAT~FHE  BLUZTE~BEBERHR

-1/1-




[C2-C3)iHHT - B RETE IR

2016412 R

(%)

100
90
80
70
60
50
40
30
20
10

0

3R BIRERE

77.1

(A)
4.0
35
3.0
25
2.0
15
1.0
0.5
0.0

FMRE#R &

3.5

1.3

#1 R ERAT ~ SCEHT

ERET~R P&

X2 Tsil FABBAN)
# s BRA 15,403
ER A& 772
ARYTA 4,204
iidi) 1,602
ZHET 2,003
=1L 5,625
iy ] 362
FER 114
= HIT 197
FEXRMARE 704
MEZFRAO 1,064
ABET @ = ZHET 366
fiE] A /)N B 422
bt B AR AT 387
EE ML AT 70
KERT—TEB 963
WRET—TB 441
WIKET=TB 364
SR/ET—TH 286
SHE_TH 483
EHET—TB 850
EHETZTE 588
X IR T 514
EiRAET 1,414
FEFNET 527
R FNET 456
BEEAH 378
FiRE AT 520
HiREE SR 256
FIRET = FHT 311
i RERA 541
% AT Al 1,129
Pt 614

FRAEHEIS

14%

#1 iR ER Al ~ AT

86%

BRI~ R &

-1/1-




